SEMBEFTIERRERTRE PO

HEIERE A EARENTIERE
104 £FEE 3 F
=k WENEHE BN %8
02 2ZERERBHUBIEE | MEIZATELZHIZRIAE
0606 39610
) ERERRNERE | BB i & s R
0718 0E2ARERBHERE | MEZAFPOILLEN 26700
FE =
ES = SHBEEE
0723 | 0®? ﬁ%iﬁﬁ%*ﬁ R A 90,882
0725 0 2 ARERBHERE | HEZABEDRLIBE 6550
HE REZERD/N
ES = SHBEEE
0729 0%2 ﬁ%iﬁﬁﬂﬁ}&”:‘ FIERE A 30,000
ES = SHBEEE
0729 0%2 ﬁ%iﬁﬁﬂﬁ}&”:‘ FIERE A 20,218
0804 0F2 ﬁ?ﬂiiﬁ%?ﬂ%?&% Eﬁiﬁ/ﬂi@i?ﬁﬂ% 18,290
0 2ARERBHBEEE | tEIZASHEMBARAEX
0805 = HHEBERE 20,000
OR2ARERBHBEEE | VEZABBEREZENX
0807 B e 20,000
0R2ARERBHBEEE | VEIZATFTZHZRIE
0807 B e 26,640
ES = SHEIEE
0813 0F2 ﬁ?ﬂi/ﬁﬁ”ﬁﬂﬁﬁ}f RN B SRS 18,560
ES = SHEIEE
0822 | °=? ﬁ%iﬁﬁﬂﬁmE iR A 10,000
) ERERNNERE | ¥E e s R
0822 0F2 ﬁ%izﬁﬂﬁ}&’; 1= i/\@%@i =l 40,000
02 BEEHEBNERE | MEEASEDAIBE
0825 B iy 60,000
Z)EBERRUEHE | tEEASETEERE
0826 0F2 ﬁ%izﬁﬂﬁ}&’; L= i/\m;iﬁiﬁiﬁ =3 14,800
= hh =
0826 0E 2 B EBEEnRE FERI A 40,000




S ES

0 22 RREMBHEHE

MEVEASEDRAIIBIE

2 4,637

0828 rE SERPD
ES EHBAEERE

0002 | °=? ﬁ%iEWQEHE SEHHERL RS | 10,000

0 Z2RREERBHEEE | MEAINBBEREZEX

0902 Bl NN 40,048
ES EHBAEERE

o916 | °=7 ﬁ%iEWQEHE KRR 19,726

EHBHEEE EPYNEY ]
0923 02 2EREMRBHEHEE | MEAASEHAIIBELE 4627

S

REZRTPD




